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1) intx=10,y; 2) intx=10,y; 3) intx=10;
Y = X+4; Y = X++; X++;
cout<<y; cout<<x; cout<<x;
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4) intx=10,y; 5) intx=10; 6) intx=10;
Y = ++X; cout<<++x; cout<<x++;
cout<<y; 11 10
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#include <iostream>
using namespace std;

int main()

{
int num=0;
cin>>num;

int y = num/365;

num = num - (y*365);

int m= num/186;

int tmp= m-1;

tmp= m*30 - tmp*31;

int ml = m*6;

m= ( (num % 186)/tmp );

int d=num-((m*tmp) +(m1*31));

m= m+ml;

printf("year:%d month:%d day:%d",y,m,d);
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int main(){
int vall=14;
int val2=22;
int temp;
printf(“before swapping: vall = %d ,val2 = %d\n”,vall,val2);

temp = vall;
vall = val2;
val2 = temp;

printf(“after swapping: vall = %d ,val2 = %d\n”, vall,val2);
return 0;

}
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#include<stdio.h=
int main()

{
const int RATE=108;

int hour,day,sum;

sum=0;

printf("Hi first Worker! Enter hour of your work in day:"};
scanf("%d",&hour) ;

printf("Hi! Enter number of day you are working in month:");
scanf("%d", &day) ;

sum = hour * day * RATE;

printf({"\nyour payroll is %d$\n",sum};

sum=8;

printf("Hi secend Worker! Enter hour of your work in day:");
scanf("%d",&hour);

printf("Hi! Enter number of day you are working in month:");
scanf("%d",&RATE) ;

sum = hour * day * RATE;

printf({"\nyour payroll is %d$\n",sum};

return o;
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1- int a=10,b=4;
printf("a/b = %d.\n",a/b);



printf("a/b = %f.\n",a/b);
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2- int a=-45;

unsigned b=a;
printf("a is %d.\n",a);
printf("b is %d.\n",b);
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3- int a=5,b=0;
float c=5,d=0;
printf("result of float var is %f.\n",c/d);
printf("result of int var is %d.\n",a/b);
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intnuml, sum;

unsigned num2,num3;
printf(“Enter 2 numbers:\n”);
scanf(“%d%d”,&numl,&num3);
num2=numl;

numl=num3;

sum=numl+num2;



printf(“sum of your numbers is %d.\n”,sum)
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Syntax Error:
cout >>a;
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Type Checking error:

int find(double n)

{

st/some code/ %

int main()

int a;

cin >>a;



find(a);
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Runtime Error:

intn;
int a[500];
cin >>n;
a[n]=2000;
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#include <stdio.h>

int main()

{

printf("%c\n%c\n",244,245);
return 0;
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Source: en.wikipedia.org/wiki/Unicode



